2023-01
FSR151




oy

UNIT:MM

UNIT:MM
®
6 4
9
4
3
2
1
M6*45 ®©10%10
UNIT:MM
o  ©®
8 4
o
4
3
2

01

>

M6*35 ®15*%10

~ ()
NE

M3*16

ea(¥)

M4*14

Stand:06.2023



BOLT INSTALLATION AS BELOW:

Adjust connecting piece direction if  Insert bolt when connecting piece
condition as illustrated under such condition

Stand:06.2023

02



Stand:06.2023



[a/

\N@
AN
,\ﬂuu

GONBO GO\

\

N O &
2 R\[2 &\

\A
/

04

Stand:06.2023



ENJOYING THE
INSTALLATION?

05 Stand:06.2023



